www.reeltech.co.kr

s

LIGHTING FIXTURE BANNER PLUG SOCKET SMOKE DETECTOR CHANDELIER AIR CONDITIONER GRILL

/) REELTECH



@72 @MMERGS W Q@ 2

b3

1)

Product range

= YT 5

(]
—
=T1
rm—
—
-
—
=T1
p—
—
{mrp |
(]
-
(V]
—
rm
=

A\t

- "r'\\
%’\f

Qg

PSI-20 / PSI-30 PDI-35 / PDI-50 PFI-100 / PFI-200 / PFI-300 / PFI-500 Highbay type

= ik EAES

1 a (i \ o . LU
. . & . & . 4 « A i [}
B . .. ’j y .
"?’ v @ < @
Y M - v
CSI-12M CDI-15M HSI-18M HDI-25M PSI-20M/PSI-30M| (PDI-35M/PDI-50M

DISSOD S\.DI i LI DAHON

f “ 1
.| = , |
= { | Ll_!lr"
LSI-10C LSI-5C LSI-10L FSI-2 FSI-1

—



v A
C3
I
=T
rTi
—|
—
I
|
=l
=
o COTVIE 45 = Rt e 32 . PR ==
—
_— %z
L —_—]
| 4 rTi
T =
| .
== [
w —
MSI-5C HSI-15C RCU Motion Sensor Wireless Panel
= AEE&AF RIS 2 s RIAITEHHES = FHEEAEAR

Downlight Lifter Grill Lifter

§
“"C' @ @‘"‘
-y
N

DO,

/i

\x}‘
\f:‘%ﬁ? (‘if

Applied to all model FAN Lifter Multi Batten

1,[‘ fr /_Z)

D

.LED .-\4- N A

1SS Oc

(

q

J

i

RT-LED200 CSI-7L RT-LEDN200 CSI-LN200 Flowerpot Lifter




WALSAS INILAIT ALIVS

FTABENHER K. ...

B FH

al Safe!

*/ No danger!

REE SR AT
BAE, TGRS AL

%7 o A — A FEAE R TR L =T % R
1AM 522 AR R RIR = oo

B xR AT 2 R 1E,

TG SRR, TR
£,

&
W‘
&

=)y

I@

'

S\

overheat

—
—_

h D

FEPERE

s, AEARER H1vd
GRE MIERE, MB L
AE, BdLhEiw

ABRFRELFEE

P e ke G B AT 4
, MR EE R, &
2 8 FHF R,

SRRk

M %R AL R AT R
R, BT B A B R
EasiFi,

it R TR

BT EERE, DR
S, A8
%, LR BREANE,
BEH .

CCTVEE 42235,

ST SR BB R
Ireeds, LE oM

L &,

Save cost!

YA TR AR
5 Ak Bk Al K 4 59457
RAT IR A TR

JARK RIS, #EE, ethtas |

No equipment!

&

Power
disconnecting
\ system

No electric shock!

B B TR AER, &
TRk, LRE AR

Fast!

YEAG B ST AR AR ], o
BTSSR,

] 5 fik
B e B A AR K

b B gREHE, FE
AR

AR E

L2 RE B S, 7T
ERC/ACR

T KA

P 4% e RO R T B B b
TTR&EE, SRELEA A
Fowr, BARE KL
BRI 2 R .

B kA5

AeEHAENRGES, B
#HiF ik LA,



R KA

& AR 4B il T Fohk 5L EES ‘*ﬁ%#‘ o
IR 1A 4% Bt sE 42 4] 1‘575/\ﬁrf%m, REFRRRES AR, ARESRKEMSR.
AT A r Sb ok AR 5 R W) RT vA 4 4 %Aﬁ%mo

. . " R R EIR K
% 7 7 IS k- S
HET X FHSELF 7 A 3 1ON/OFF sl e
i 433.9200MHz ~ERINFE AR B ) A R R AL
— R A TR LG
-— , SZES 10mwW
00 ® HEIES within 100m " R RIRA ‘
e — 18 8 ON/OFF ~#EH A&
EE? EHHE 1,000,000 EA
B 5 o AR EIRL K
ek ASvinaxs) ~ 38 97 ON/OFF
1T X s I X, 13T X FM3R & 7 &,
VS - Ve 433.9200MHz
- kS 10mw bZES 10mw
. CE 6~7m CES within 100m
ERE many ERE 1EA
&R 3.0V(AAA X 2) 3.0V(AAA X 2)
HEE T X, FM#R & 7 X, KREREETH
e 433.9200MHz @, SELEBRA
B — g, i
hE 10mW ET AR
A E TR within 100m Bl WAL
Eh A E 1,000,000 EA N
4,7 AC220V '
o Erp BREBREANGHEE, TAF
ta E FM&H\ FHE g
(e il ON/OFF %8 7] ,
IRE 433.9200MHz
1
! & 10mw L
tE IR within 100m !
R HE 1,000,000 EA
&, 7 AC220V
i it X, HEAEET JQET
o
5oL 500 x 600 x 180 i
coer e R E MUNSELL No. 5Y 7/1 a@ﬁa
9@99 SEERE 15T PEIL
50383 . -
) WE IR AC 380V, 3 Phase 0 i
ol i Bk, RERRIIE, SHALE,

WALSAS INILIT ALIAVS




C2
]
-1
rm
—
<
=
|
—
—_—
(mrp
cA
-
C2
—
rm™
=

///‘

162.2mm

A
#ARAER RS, ESE
TS 2 A s T AE R, &
B R K AT RLED ¥ ey
pa:n

n GERH R

2, #gksh, L7, KEE,
e, WiRbe, s F

TR TN G 3

‘ Addition(M12)
g 266 5mm
mizﬂmm4m
 — —)
10 h

o
g
Bi

racket

| [e1 >

121.9

= .

£ {

S {

~

\
156.5mm y

N5 MSI-1 MSI-3 MSI-5 MDI-3 MDI-6 MDI-9
S N 162.2(W) x 170(H) 162.2(W) x 170(H)
EREE 22kg 2.2kg 2.2kg 2.2kg 2.2kg 2.2kg
TAREE ~1kg ~3kg ~Bkg ~3kg ~Bkg ~9kg
FiE3EH 15M ™
R 22 H5 1 2
4R 2248, R T 1.2mm 1.2mm
PRI A5 iR 16A 16A
%, DC Motor DC Motor

635 LI AF AT % &

B TR At £

A




NALSAS INILAIT ALIVS

=
<
N
124.5mm
152mm
216mm
' !

|
106mm
HE A5 CSI-12 CDI-15
5 5k o 7 de K 140(W) x 140(D) x 216(H)
= RS R AR A ~1§e 51k e
HH ORI, EATFAMK FeEEE e -
BT BLEDS vh i 42 4007 TAREE 3~10kg 3~15kg
& 36 5 15M 10M
A 22 4 1 2
o g 4R 4248, R ~t 1.4mm 1.2mm
WHAE, BRI, Ak, AT LS 2 A 16A 16A
Hb, BRI, A, R %
%, DC Motor DC Motor

B TSR T TR R M 5 A
Addition Addition 7L
gy Weshier 4 2457mm Z1
i I [l 1982mm | T L
N R o 5 T iyl
M0 wo20 £r ot e W
LI =T ini

HAZ R B 5




4 )

WALSAS INILAIT ALIVS

“‘\ [\
o) o
2 ] .
Q
= g P
5 4
e
L : ‘- -
& Y - .v\:\
> >
174.5mm -
180mm )

128.5mm

EE gk HSI-18 HDI-25

N 32 0 175(W) x 175(D) x 228(H)
= R A G A _ Z 3 -y T
BE AR S, R it .
FLED 400Ws: % WMT A S E % & TAREEE 3~15kg 6~25kg
et 1 36 15M 10M
R 22 H5 1 2
. M AN 2248, R <t 2.0mm 1.6mm
T, T, #E, BRds BT LB R WA 16A 16A
L HLBREE, HIKAE. LB H
%, AC Motor AC Motor

5% e TR 5235 ¥ il 5 5 HEHAL (B % 2) £ % HEE B AL (D) 5

266.8mm oy @ [gelH-Beam! mi2x20
217.3mm__ | Addition © o 9 @ 29 . H-Beam 1220 NN

‘ _©=° U Bolt(15A) i e \oE | Ea M12x35
I 77 | c racket ag ) M12x35 -

/R Concrete ceil it ) i @ » M12x35
o T IAN A iy > M12x35 e

k2 N~ A - K/

M12x35 {1~ M5 &

Bracket 2z

NUT-@ ]

L

[’;o

M12x35

\ Bracket

Lo 1 ' |
N VW_‘Y_Y_‘(J L\\ T // r

HAR B AL (R4 ) 52 CH %R AfiHE %R AR T ERR

C type clamp
1

- M12x25

[-M12x35 o Vi
MBx25 _ M5x20 2 e,
4 g S g Eie—=—u2\
g o 9 | ‘ e=—=—n."
¢ 89




209mm

167.5mm
195.5mm
275.5mm

(@)
128.5mm

CE A5 PSI-20 PDI-35 PSI-30 PDI-50
i ) R Pk 209(W) x 209(D) x 276(H)

- ERTAEE AR =3 16 10k s aar s aa
WA MRELABIT, BAEL i FEE s 159 gl e
BEGWITRY S TAREEE 4~20kg 8~35kg 4~30kg 8~50kg

&5 5 15M 10M 15M 10M
4R 22 30 1 2 1 2

o g 4R 4248, R ~t 2.4mm 2.0mm 2.4mm 2.0mm
BEL BALRT. Za%. e FE AT LA 2 B 16A 16A 16A 16A
. A, #E

L AC Motor BLDC Motor

fy/gy/éatg////

M12 x 35‘(1}.; L :1

C3
=
=11
rm™
—
—_<
-
=
—
—_—
{mrge
(]
-
C2
—
Getal
=




=

C2
]
-1
rm
—
<
=
|
—
—_—
(mrp
cA
-
C2
—
rm™
=

S o ) )
r ] IT:ITI finmuil 7 ‘ 1] 1
AL TAT AL D .
| !
1 { \ —
/£ — | B
M16 x 50 = R
] w v
CE A5 PFI-100 PFI1-200 PFI-300 PFI-500
B &k 410(W) x 410(D) x 635(H)
= 100kg A EAE 4 E 49 KT I _fﬁ
: % 57 5k 58k 58k 59k
HRAE A T100kg AL, fEHE it 9 g 9 9
I A TAREEE 50~100kg  60~200kg 100~300kg 100~500kg
&8 % 30M 20M 20M 15M
4R 22 30 4 4 4 4
= S 4R 4248, R ~t 3.0mm 4.0mm 4.0mm 5.0mm
FRA, MALKIT, B HE MG T B R R 32A 32A 32A 32A
LB Wb E
L BLDC Motor BLDC Motor
B LT s BN T ik BN T & Hldm
7 % Ap///jz%/j//// P72 777 l@; 7777
., Bracket Pb\o/gﬂh% M16x50 [Py L 1
H¥% % 4>L NG T ik
WTM i Mwﬁ o
N — —
Custom Wood Frame

Second Floor ceiling




WALSAS INILIT ALIAVS

. ik i L gl .

ﬁé;aﬁ: Bk o) i . y

BB O {_: - . ‘@ . %gv &t
C B o , e T © “
CCTV, &#f., DALI % ?’ H 4’ ' ) | ""‘

G, HAHBAF #ﬁ" é -, &,
25 MSI-5M MDI-9M CSI-12M CDI-15M HSI-18M HDI-25M £3120M  EDi-35W
PR 162W)x 1765(H)  140(W)x 140(D)x221(H)  175(W)x 175(D)x 251(H) 209(W) x 209(D) x 298(H)
EEEE 2.2kg 2.2kg 3.1kg 313kg  6.53kg  6.62kg 8.19/8.44kg 8.19/8.44kg
TARKEE 1~5kg 2~9kg 3~10kg  3~15kg  3~15kg  6~25kg 4~20/30kg 8~35/50kg
I+ 56 % 15M 7™ 15M 10M 15M 10M 15M 10M
4R 2 5 1 2 1 2 1 2 1 2

4R 22 %8, Rt 1.2mm 1.2mm 1.4mm 1.2mm 2.0mm 1.6mm 2.4mm 2.0mm
RE AT LR R 16A 16A 16A 16A 16A 16A 16A 16A
&AL DC Motor DC Motor AC Motor AC/BLDC AC/BLDC

N

=

162.2mm

145.2mm

176.5mm

170mm

227. 5mm

144.5m m
171.5m m

128.5mm

128.5mm

8k &

@ —— SPARE @ ——— POWER((N) - BLUE COLOR)
@ —— SIGNAL1 @ —— POWER(D - BROWN COLOR)
© ——— SIGNAL2 © —— SIGNAL1

@ ——— SIGNAL3 @ ——— SIGNAL2

© —— SIGNAL4 © —— SIGNAL3

@ —— EARTH(GREEN/YELLOW) @ ——— SIGNAL4

©@ —— POWER(D - BROWN COLOR)

© —— POWER(® - BLUE COLOR)

10



C2
]
-1
rm
—
—
=
|
—
—_—
(g
cA
-
C2
—
=

iDTDISSOD S\ DI [ DI DAHOW

I

s
2
SN

w
o

Min 550mm

El
5] -
220mm

@
- 235mm )

[ 280mm |

300mm

300mm

48

= R, LIRS BRSO R
THAE, BARHCRT S5

s SN

MFE, KAE, LT, HRE
s HAE, Mdhd e E

i
7k
FaEy
TAREE
S
4 22 5

LB N

BT B2 IR

L

LSI-10C
300(W) x 235(D) x 550(H)

8.5kg
2M
1
1.2mm
N/A
DC Motor

=
=

-
v

B -
E=
—%'g;ﬁ

6l

LSI-10L

140(W) x 140(D) x 529(H)

6.7kg
3~7kg
2M~
1
1.4mm
16A
DC Motor




i

124.5mm
157.5mm
223.5mm

140mm

RT 7

103.5mm

= KRB H RAER
RABBKRASBOFAELE

s FHE

HHE, LT, ks, M.
NEER, HEF

ZER

A5
P NN
FamEw
TARRE
SHiE3E 5
40 L2 %,

AR 2258 R

BT B2 IR

L

P type receiver

a
L}
20mm
) 1 (
E%%g%e . @ "‘D
EE 7
= A é‘
I 103.5mm ( ‘ |
g 1-Cg
FSI-2 FSI-1
140(W) x 140(D) x 187(H) 162.2(W) x 110(H)
3.1kg 2.2kg
pa 1~2kg 1kg
15M 15M
1 1
<t 1.2mm 1.2mm
DC Motor DC Motor
Manual transmitter
[ o] | \ \

%)(%)|%]|%]
[Z)[5)[%][%)

Answer
Call
Common
Earth

S[S[S[S

NALSAS INILAIT ALIVS

-
)

/

DVLON

~

~—

DI [D.

w
/

\

L

=y
o

A[ L(;\\L%N(j 1)

&

J

= X
4

J

o ¢

i



WALSAS INILAIT ALIVS

456238

208.8

~-

E! 1

A5 MSI-5C CSI-7C HSI-15C
&k 185.4(WV) x 208.8(H) 248(W) x 292(H
= CCTVA AR ":ﬁ W) (H)
% 3.7k 6.2k 10k
SRR A T i 5 KA CCTVA, iR = g 9
KA SR E. TAREE 1~5kg 3~7kg 4~15kg
&5 5 15M 15M 15M
4R 22 % 1 1 1
= S 4R 4248, R ~t 1.2mm 1.4mm 2.0mm
B Bl S35 . PR LR iR 16A 16A 16A
M sE, WM,
L DC Motor DC Motor AC Motor
S 3 A L4 E4E CCTVH 5 5 7

— o FHiECOTVHL
%%% st R BRI CCTVAL K, TR AN 2SR R SR,
=

o
‘ 11/2" PF Tap ® Py
[ \ 1" PF Tap g' AR
0ok

o BHIT 9 A HOCTV 4t%
BT e, 7T 54 Hb e Ho E A OOTV R /7 445 THE

'L

- [(BRES

Installation for
Dome type CCTV

Installation for
plate type CCTV

13



NALSAS INILAIT ALIVS

N5 BDL-3 BSL-3 BFL-3

Pt 0N 352.3(W) x 77.7(D) x 56(H) 213.3(W) x 77.7(D) x 56(H) 352.3(W) x 77.7(D) x 56(H)
FamEE 3.1kg 3.1kg 2.2kg
TARKEE less than 2kg less than 2kg less than 4kg
FiE3E 5 4M 4M 4M

LEE 2 2 4

AN 4248, R ~t 0.8mm 0.8mm 0.8mm

PRI BLEE IR - - -

A AC Motor AC Motor AC Motor

Banner Lifter

BTt B

SUS#R 22

@ e L TR
- AR AR A0K, B H BLE, HTRALTH,

O TAFATAT
- BBV I0K, A& CH7 BZG, TR LTAAE R “Up” H A “Down” SETRTATF 89T 47
- BBLE 1K .

© Tk TR (R AR S 2)
- B ELTAOK, BT F2E, HTARA LT,

= FHR COn” B, A R,

14



WALSAS INILAIT ALIVS

15

4
I

Move It!

It's possible!

B e B2E6 TR ERML, TRMHEE2E64EE,

Ry ER T REFTE. F5.

SBFUCEFTMBHRA RO S HMHRE. Fh. FERAS,




1600mm(26A WGX9G)

A 5

3 12 AR
ERRTBLERAEERAS 7 Rl
WA A AT EMRKG S S, W e
WA E R B (GEER) P
A, mAdlkEAM K&, B TABEE
HEAL, B, H52~34MA SHEE 5
Bk IR T8

4R 22 %
N L LY L

e N

PR T L WA

&4

R ERTEREE, £2T. BE. BE. 2E. IAE,
o3I BT B AR AT

AL R34 (30% VA _E)
M, Rl R EFER
Fa AR g Ak (5 3R T IEAERR)
AT AR

5 E RS E

HE BRI A TR

RS EE A R E

RERR

PN RN =

b P
E2E 7013
o Y b E L THT8 AL o QafE LT
MEMORY ¥
LSRR A LL M TR, MARLGHTHE
RFHARE, TLELH®S A, IMTHALIZEEE
— AR B AR, AR AERS /RN

—ZAF AT, i/
A,

GFL-3
126(W) x 40(D) x 36(H)
0.5kg
2kg
4M
2

0.8mm

0.6A
DC Motor

HEATEZERN=ELG,
REZER—BRERRS

sTOP

=
TR, 5B R E ARG
| RFEAHREN, BEA
Y Sl 3

NALSAS INILAIT ALIVS

16



W

LED P& RH

& neugouUs x) e
Gk o E @ E
wan
& suzE s DHaA sovonerron

5011004.14001A

C2
o)
|
T
—
—_
—
=T1
—
P
{mrp
(]
-
(]
—
=

108mm_ [80.3mm | 96.3mm

I EE
% Bl Mm
\ &, AT ITTITNNWS
238.5mm
330mm
A 5 RT-LED200 RT-LEDN150 RT-LEDN200
o K 330(W) x 285(H) 244(W) x 158(H)
= G RKRLINE S o
3 A 4 Vs & 3 5.7kg 3.1kg
GRS 5 M 200W 150W 200W
B H LR R i
2 A b K 0.99 0.95 0.96
B 18551Im 18339Im  24636lm
= ZEHE 4R 2248, R T 5728K 5931K 5892K
HRER, L), B, M, 2 EKH 79 80.1 80
NEERE
ok /A 220V / 60Hz 220V / 60Hz

ZET B T R AR S HNGEFE Ty ik B H
R Q =

HA Y LR

HIZ R B 5 HI R B 5

SRS S ]

\%&\m“‘x‘m‘
R S

17



% 5 Fe L EDE E A2 A

C3
=
=T
rm™
—
-
-
=
—
—_—
c3
(]
-
C2
—]
Getal
=

" | . /
i . .
= T '
= L w E " J o g A_‘E-
i @2 = lllu\ m
[ A
| @IS 3 L..._.,, el
: it — J \
| a% | ’ )
\ 4; 22436 i ~——— i [
EE A5 CSI-7L CSI-LN200
i e Ko 330(W) x 406(H 244(W) x 329(H)
PRERE : n“'ﬁ 2 | 8>8k " 6.2k
ST E E BLEDE ERA, %3] IEEE o9 <9
BRI, AER AR ROE G TAREEE 3~7kg 3~7kg
B %95 % 15M 15M
4N 22 8% 1 1
. RS 4R 4248, R ~t 1.4mm 1.4mm
AR, I AR KR BE AT LR IR 16A 16A
Wb, Rk E
L DC Motor DC Motor

LED 5 H & 4 & &4 75 ik B L TN R

AAT A B4R ERE? EARE, LEDAME AF o f KiB44e,

+

F4E40000hr / 85F (LR 2 FAEA)
— FHINLED R +H4% A i) 49 2 Ak

+

& 15707 80% Ak 4
- W ARBR S ERB BRI AL, A& AN E R EFLED,

+ EREBFEFEEE: 1. 65

A .

+

B5iZ B Shhe (REE 0% B R AR)

G HRFR. BEFRFEALAFR

+

18



Move It! It's possible!

Reference




fgm‘u's -

N )




::::::::

w\\m

V=1

- |
B oiw Wonwewmmmes u M

South Entrance



29 BNl
O 23 <] -

>
'

cul

-4

y vy

S

STRONGLY




HEAD OFFICE

AUSTRIA

TEL : +43(0) 1 960 80 88

http://www.reeltech.eu

UNITED KINGDOM

REEL TECH UK LTD.

TEL: +44(0) 1604 643522

FAX : +44(0) 1604 697028
http://www.reeltechuk.com
email : enquiries@reeltechuk.com

RUSSIA

Platan LLC

TEL : +8(495) 252-07-77
http://www.platan.ru
email : volkov@platan.ru

HUNGARY
REEL TECH HandelsgmbH

TEL: +43(0) 1 960 80 88
FAX : +43(0) 1 960 80 88 - 80
http://www.reeltech.eu

ITALY

Santenini S.r.l.

TEL: +39 0331 924846

FAX : +39 0331 920606
http://www.santemimi.it

email : daniele.serventi@santenini.it

SLOVAKIA
AMI spol.s.r.o.

TEL: +421 35 6923900
FAX : +421 35 6923960
email : ami@ami.sk

CZECH
BASE Diming s.r.o

TEL : +420 602 344 162
email : j.Jamac@basediming.com

REEL TECH HandelsgmbH

FAX : +43(0) 1 960 80 88 - 80

GERMANY
REEL TECH Vertriebs GmbH

TEL : +49(0) 6109 / 5016151
FAX : +49(0) 6109 / 5016150
http://www.reeltech.de

SWIZERLAND

Demelectric AG

TEL: +41(43) 455 4400
FAX : +41(43) 455 4411
http://www.demelectric.ch

email : office@reeltech.eu email : office@reeltech.de

email : info@demelectric.ch

POLAND
MBB.s.c.

TEL: +48(0) 2233175 70
FAX : +48(0) 22 840 15 54
http://www.mbb.pl
email : mbb@mbb.pl

TEL : +82 61 723 1113

FAX: +82 61 723 4440

e—mail :

reel-tech@hanmail.net / reeltech@naver.com

SINGAPORE
LIGHTCRAFT LTD PTE

TEL: +65 6744 2441

FAX: +65 6744 1416
http://www.lightcraft.com.sg
email : enquiry@lightcraft.com.sg

AUSTRALIA
LIGHT MOUNTING SYSTEMS

TEL: +61 02 4932 9000
FAX: +61 02 4932 9009

http://www.lightmountingsystems.com.au

email : sales@lmsau.com

KUWAIT

TEL : +965 24821302
FAX: +965 24847725
http://www.alahmedgroup.com
email : info@alahmedgroup.com

YOUSEF AL-AHMAD INT GROUP

MEXICO
AG Lighting SA de CV

TEL : +(52) (55) 6845-6002
http://www.aglighting.mx
email : contacto@aglighting.mx

COLOMBIA
ZONA DE ENFOQUE NETWORK S.AS

TEL:+57 314 892 53 17
http://www.reeltechcolombia.co/
email : gerencia@reeltechcolombia.co

IRAN

TEL : +98 713 648 0010
FAX:+98 713 648 0011
http://www.inenop.com
email : s.Afsar@bhe-co.com

MALAYSIA
M LUX SDN BHD

TEL: +603 7781 8954
http://www.mlux.com.my
email : sales@mlux.com

HONGKONG
Lightcraft Limited

TEL : +852 2866 6965
http:/ /www.lightcraftintl.com
email : info@lightcraft.asia

FRANCE
MINOEUROPE SARL

TEL: +33 6227043 45

email : haemaru.ryu@minoeurope.com

BHE CO.

BAHRAIN
Genprise Co. W.L.L.

TEL:+973 17311442
FAX:+97317311019/17910761
http://www.genpriseco.com
email : mitesh@genpriseco.com



